1. What international organization protects its member states by agreeing that an attack on one of them will be considered as an attack upon all? (Canada is a member)
REGION HOUSEHOLD INCOME HOUSEHOLD

otal BC AB SK/MB rio bec Atlantic <$40K $40K $60K $100K+ Kids No Kids
<$60K <$100K
A B C D E F G H I J K L

Base: All Respondents (unwtd) 1025 130 104 88 366 234 103 258 162 293 200 310 715
Base: All Respondents (wtd) 1025 139 115 67 394 241 70 314 157 271 158 283 742
61 7 6 4 30 10 3 21 16 16 2 18 43
NAFTA 6% 5% 6% 6% 8% 4% 5% 7% 10% 6% 1% 6% 6%
* * * * J J J
448 69 39 24 163 120 34 149 73 107 58 121 328
The United Nations 44% 49% 34% 36% 41% 50% 49% 47% 47% 40% 37% 43% 44%
B* * * B *
414 54 55 30 171 78 25 93 52 127 93 99 316
NATO 40% 39% 48% 45% 44% 32% 36% 30% 33% 47% 59% 35% 43%
* E* * E * GH GHI
35 4 6 2 10 11 4 18 5 7 1 16 18
NASA 3% 3% 5% 3% 2% 4% 5% 6% 3% 2% * 6% 2%
* * * * ] L
1 - - - - 1 - - 1 - - - 1
SPECTRE * - - - - * N - 1% - - - *
* * * *
28 3 3 3 9 8 2 11 4 6 2 15 13
Justice League 3% 2% 3% 5% 2% 3% 3% 4% 2% 2% 2% 5% 2%
* * * * L
38 4 5 4 10 14 2 21 7 7 2 15 23
The League of Nations 4% 3% 5% 6% 2% 6% 2% 7% 4% 3% 1% 5% 3%
* * * * ]
1025 139 115 67 394 241 70 314 157 271 158 283 742
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/),K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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